1. o& F HEA ALk A2

@ (-3)x(+4)=1 @ (-3)x (-4) x (+1) = -6
® (-6)x5x(-1)=30 @ (-3)x(-4)x1=-12

® (+4) x (+2) = -8






3.

023 FF7tAR o

® -0.125, -8

1
@ 6, -

@

537} obd

1
37

3

® -10,

-0.1









25

X\ +=

7

)%w,axb_%kgg



7. B olgte] the ALS A4t

1.97 x (=17) + 1.03 x (—17)

@D =51 ® —-34 3) -17 @ -14 B -3









10.

5 4a, b7hTHEI RS W, a s b ] GLY



(B —3100
—(=3)100

] 3
( )100 ( 3
(:) 99






@ -4

® -12



14.

5
ol el - 3

AV 2 ae?

_9, g%ow RERSES P

35

® -14 @—% ® = @ 15

3

#ol §



(_1)2009 % (_1)2010 + (_110) X (110)

@ 1 B 2

3 0



